W=1200LLF W=1200LLF W=(1200-a) LI T 200~ 300
20
ryTL—)L (AL) 1<~
DS13035 3|
130 Ry FL—ILE I (AL) ; ; ;
725 575 DS11025P | p | p |
PBFARAyE S E X (SUS) ! 7 | 7 ‘
gl = M4 x 20 | | =150 250! 50 i
S a=150~
i N FREAE (AL) | | mRL T g R g
FHAE—F | DS1215V(E FH) | 1 | EHE %
PKS—601 ‘ \ \
| LEDHRH yaa ya P
Iz i 7 7 7
(ASRALTH) | BEATR(HFTAIE) | | | 3
i 3+3mm~4+4mm 7777773 777777777777777777 ”L 777777777777777 Il 777777777 §7 - %!Sl_i
| IFJLHERAL) R i
| DP2824P8B é
| S (AL) 3T
‘ DH5945 UE
55 XHEERM(AL)
i S3050BB(RB)—#kkx
o« #H i / EARAyE U4 L(P-SUS)
X % K i M4 x 25
* :”c * n :
i & R |
\_H_‘ L—
N SfE—k SRV (SUS)
| PKS—601 M4 x 8 (BII5E E)
| o=y M67Ry 7 F v (AL)
| (HZRIH) FNARILME x 20(SUS)
i wyFFIays  XHEAD AR (AL) FyTL—IL(AD) =0y BXFI STV (AL
i DP181340G DH5945 S3050BB(RB)—**#x DS13035 (HSRI=H) K72EWHA+WTHA
3 i JISRIJLT#E(AL) INRILTFHAIR—(AL) HIWZ RBE—+ FHE(AL) IURZHEAL) IURFvyT(#R)
S i DP4430P8 DH59MKA2 PKS-603 DH5945 S5545 DS13035ECP
. ‘ F_RAYELSE Z (SUS) RERE = 7 H—(SUS)
44 M (185 M4 x 40 — i T S A g— _g% / SGA-M8.”M8 X 35
ol g N B = e e e e - I = ik v
- = ; ®55x 30 — ’%f — 8 1 5& ]
~ \ s .  —— | 2
é ol : TEFELZI(EETISE) _'I_”_m’ "*:’:J —————— 1--% HEER /SR JLEEC (AL)
wsL | ¢ ) Z“ S / —— DP3628P8R
o o ST T T s IR LA / FHE—F \ AEHIRHASRIH) 13H L FHAL St —k B8R/ S JLHEB (AL)
@ N = DP2824P8B 15 PKS—608  3+3mm~4+4mm 15 DP4430P8 PKS—601 159 DH4030P
Q BEEEILZI - —
o] \ (SO HELALKR) HSA ik 3 HSR ik 33 HSR ik 23
RARTHh—(AL) a=150~250 [30| |20
HELZER{A T =200/220LL £ DNSSCA-1(708 )  a=199~290 oYl |2V
DNSSCA-2(80% F) W=1200L1F W=1200L1TF W= (1200-a)LL T 200~300
XOEE IHREVFIIKERERERVMEEEEICLYVERYET, XBEXFHISTINIA T 3o TT,
z 47 o (] FEEHAX
ZT1E
AN — 2 £ g g IH%E — PN . B % mat A ®
| &t k] — f—
i — B i | | & G gty -N B | @%@ |TEA
ﬁ ; WT g“; # A A & FILEFE WEHER e R| (A3)=1/8,1/25
A _— B i@ | | 54k —JL ./ SL-LEDP-DS13035-B

#5E B :2006.12.07

HEH: 2010.6.22

DOPPOPOPDOOD

#-033



